
Congruent Shapes
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1 The two triangles below are congruent.

What is the value of 𝑦?

[1 mark]

𝑦 =

Turn over for next question

Turn over ►

Not drawn 

accurately

1

40°

𝑦
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2 Look at the shapes on the grid below.

Identify two pairs and two triplets of congruent shapes from the diagram above. 

[4 marks]

…..…… and ……..… and …..……

…..…… and …..…… and ……..…

…..…… and …..……

……..… and …..……

Turn over for next question

Turn over ►

4

𝐴

𝐵

𝐶

𝐷𝐸

𝐹

𝐺

𝐻 𝐼

𝐽

𝐾

𝐿

𝑀

𝑁

𝑂

𝑃 𝑄 𝑅
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3 Below is a shape drawn on a centimetre grid. 

3(a) Divide the shape above into four congruent shapes.

[1 mark]

3(b) Dan believes that the shape can be divided into 8 congruent shapes. 

Is he correct? 

You must explain your answer

[2 marks]

Turn over ►

3
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4 𝐴𝐵𝐶 and 𝑋𝑌𝑍 are triangles

𝐴𝐵 = 𝑋𝑍

𝐶𝐵 = 𝑋𝑌

∠𝐶𝐵𝐴 = ∠𝑍𝑋𝑌

Prove these two triangles are congruent. 

[2 marks]

Answer

Turn over for next question

Turn over ►

2

Not drawn 

accurately

𝑌

𝑋

𝑍

𝐵

𝐴

𝐶
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5 Sophie draws a triangle with angles 𝒙, 𝟒𝒙 and 𝟕𝒙.

Ben then uses this information to draw the triangle below.

5(a) Is his triangle correct, based on the information given?

You must justify your answer.

[2 marks]

5(b) Is Ben’s triangle congruent to Sophie’s? 

You must explain your answer.

[1 mark]

Turn over for next question

Turn over ►

3

Not drawn 

accurately15°

60°

105°
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6 In the diagram below:

∠ 𝐺𝐹𝐸 = ∠ 𝐸𝐺𝐹

𝐴𝐵 is parallel and equal to 𝐷𝐶

𝐸 is the midpoint of 𝐵𝐶

𝐹𝐴 ∶ 𝐴𝐸 = 1 ∶ 3

𝐺𝐷 ∶ 𝐷𝐸 = 1 ∶ 3

6(a) Using RHS, show that the triangles 𝐴𝐵𝐸 and 𝐸𝐶𝐷 are congruent. 

You must justify your answer

[2 marks]

Answer

6(b) Show that the triangles 𝐴𝐷𝐺 and 𝐴𝐷𝐹 are congruent.

[4 marks]

Turn over for next question

Turn over ►

Not drawn 

accurately

6

𝐴 𝐵

𝐶𝐷

𝐸

𝐹

𝐺
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7 Of the following, which can be used to prove two triangles are congruent? 

7(a) Circle those that apply.

[3 marks]

AAA

AAS

SAS

RHS

SSS

SSA

ASA

7(b) For those that you did not select, through use of a description or diagram, explain 

why they cannot be used to prove congruence.

[2 marks]

END
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